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- - (A) (B) (A-B) (%) - - (A) (B) (A-B) (%)
LhefpiE o 267,000 221,240 45,760 | 10.4%  |&bstpdEd] 256,803 199,055 57,748 | 10.0%
XdF4 1,826,001 1,358,281 467,720 | 71.4% | X ZAILH]| 1,470,402 1,160,421 309,981 57.5%
e & 7R3 385,001 530,501 A145,500 |  15.1%  [gkaaly| 454,795 667,754 ~212,959 | 17.8%
2dels9 9,000 9,000 0 0.4% [2deHE 16,000 35,488 ~19,488 0.6%

- - - 0 0.0% o] - - 0 0.0%

=agsoz olet ,  |ezEsc= ol _ _ ]
A2 +el i i R L o] %0
RSO ol =xEsoz olgt
A2 =of - - 0 0.0% A2 x| = 358,002 335,127 22,875 14.0%
; Megsoz olst
PES = 69,000 278,823 ~209.823| 279 [HEEESSE - - 0| 0.0%
= XE
7| LRF - - 0 0.0%
g A 2,656,002 2,397,845 168,157 100.0% g A 2,556,002 2,397,845 168,157 100.0%
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A=l 267,000 221,240 45,760
1. AbEFE{Ed o =0 252,000 208,640 43,360
1)AbErE 24 o 1 =0 252,000 208,640 43,360
TS es Eatsl 10,000 8,100 1,900
1) WY 10,000 8,100 1,900
. 7| Ef phetE 2 =0 5,000 4,500 500
1) 7| ErobErE 2 4= 5,000 4,500 500
1,826,001 1,358,281 467,720
1. Z3X|elF 1,826,000 1,358,280 467,720
1) Iy s2XeZ 1,596,000 1,148,820 447,180
2) 7|Et= X2 120,000 113,360 6,640
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2. 7|Ex| ¢ Z 1 1 0
3) MAAK|IAF 1 1 0
7188 4 385,001 530,501 A145,500
1. 8= 9 1 1 0
4) TUAANAF 1 1 0
o 385,000 530,500 A145,500
1) eV |23 35,000 30,500 4,500
2) X725 350,000 500,000 A150,000
2 9,000 9,000 0
2 el 9,000 9,000 0
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2011 of Akt M A T 0 AFOH =&Y
2+ st =
| . A3 Edy| 256,803 199,055 57,748
1. AFEE Ed o 2| 241,800 186,452 55,348
1) olzid| 88,320 64,636 23,684
2) A AH| 153,480 121,816 31,664
2. IS 2YH| 10,003 8,103 1,900
1) elzid| 2,000 1,500 500
2) WS I 7 eh| 1 1 0
3) &ata 1 1 0
4) AE A LH| 1 1 0
5) 7|Et 1 25| 8,000 6,600 1,400
5. 7| EtAFERE 2| 5,000 4,500 500
1) 7| ERM R 24| 5,000 4,500 500
[l X2 ZFALAH| 1,470,402 1,160,421 309,981
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2) WA I | 1 1 0
3) stz 135,786 188,466 A52,680
4) MY A GH| 300,000 195,062 104,938
5) 7|Etn |2 dH| 874,214 529,542 344,672
Atedd| 57,000 57,000 0
1) ZIEHX| & S At | 57,000 57,000 0
454,795 667,754 A212,959
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1) mMAYAE 1 1 0
2) & 20 1 1 0
3) =2/ =4y| 1 1 0
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2) 7|Et2geH| 8 15,000 34,488 A19,488
of| e 0 0 0
of| e[| 0 0 0
ofle|H] 0 0 0
2 9 dH & & A 2,198,000 2,062,718 135,282
RASSo2 Qs AL x| & 0 0 0
1. RS F S X & 0 0 0
4) MM X & 0 0 0
2. SR A2t X E 0 0 0
4) o =3 X & 0 0 0
7) 0lX|gH| & X & 0 0 0
. Sxtgtso2 26t X2 x| & 358,002 335,127 22,875
2. REAR X 5 X & 358,001 335,126 22,875
4) 7| A7 3 S 358,000 335,125 22,875
5) &IIHIE F= 1 1 0
4. 7|Et H|RFSXIA X & 1 1 0
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off &b oH il £ = A H 1
2 E =
2. 71837 4 385,000,000
1) Le7 |23 35,000,000 |. LE7| & F 35,000,000
2) XN 87|77 350,000,000 |1. &tme™7|Z 100,000,000
2. 7|Et&tsta 250,000,000
g A 350,000,000
Iv. 2ge| 9 9,000,000
1. 2gel 9 9,000,000
1) ol 0l Xt 7,000,000 |. ol FO| X} F=¢ 7,000,000
3) M7|IRFH|Y 1,500,000 |. M7|& 2&F $%o0[Y 1,500,000
4) 7|Et2 g el 500,000 |. 7|Et2g el 500,000
2+ A 2,487,002,000
V. 7| =X 69,000,000
N 69,000,000 |1. X|AlY BEx=ZF TF 10,000,000
2. QR LA flErATH| T2 15,000,000
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3. LS| A EHm 10,000,000
4. HelIt= AN TS 1,000,000
5. Ch7| 2 84E of x| 33,000,000
g A 69,000,000
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ANE2 F 0 & =& 3 A A

&g o e 3 A
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(H7] : 20114 32 1L 2E 2012 22 282UA|)
=
of &k o o = 2 7 H
2 st =
5t 256,803,000
| 241,800,000
1. 8tm 4829 8=¢chollX| ME[A|AH MSAS
1) elZdy| 88,320,000 ol g ot = = 8,000,000
2. AMCHs Al A uobM | ST g o L 2| 10,320,000
3. AtsteiEd oA A olz4H| 70,000,000
st A 88,320,000
1. 5tm 4E9| 8=¢chllX| ME[A|AE MFHAME
2) o A AH| 153,480,000 AR A 5,500,000
2. REMICHS Al A EFOEM 7| STl gk of A ZH| 22,980,000
3. AtetsiE o kx| o 7| HH| 125,000,000
st A 153,480,000
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off Ak o4 4 &= 2 A in}

2 E] =
3. 0| F UCH S = 2 22 K| 24 AL b 30,000,000
g A 98,400,000
2) M pE I 2| 1,000 |. &5 1,000
3) etz 135,786,000 |1. MEOHEtM 2 2 SATA G AlYH| 33,786,000
2. ArEtoiA| ghEE olE M Al H| 2,000,000
4, MFAZZstALH]| 100,000,000
g A 135,786,000
4) A ASH| 300,000,000 |. M S ZFZatAIAH| 300,000,000
5) 7IEt 52| 874,214,000 (1. M2Cistd 22 HTAE ALY 2,214,000
2. AFStd7| SEEE QI QM AL | 44,000,000
3. 0| XS = 2 72 X| 9l ARt H| 30,000,000
4. MFAZZSIAH]| 750,000,000
5. 7|Ef X| Xt 2 =AY 2YH| 48,000,000
g A 874,214,000

3. 7|EbX| &l 2ALHH| 57,000,000
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1) 7|EFX| 2 S AL H| 57,000,000 |. CHEHENRd 300 Z2 X E Aleid| 57,000,000

454,795,000

454,795,000
1) WA 1,000 |. &% 1,000
2) Bl Z0d 1,000 |. &% 1,000
3) SE|=4y| 1,000 |. &5 1,000
4) ATZT EH| 15,000,000 |. m¢ 37X 54| 15,000,000
5) ofH| W SH| 1,000,000 |. Alth e HEFZl ofd| WSH| 1,000,000
6) WEE=2| 2,000,000 |. & & 2mSH| 2,000,000
7) 22 EH| 3,000,000 |. ¥HLZE 7 3,000,000
9) YFFZly| 2,000,000 |. ¥FF7 HMAH| 2,000,000
10) 3| 2|H] 1,000,000 |. &|2H| 1,000,000
1) Aa+5= 2,000,000 |. Z+& =2 2,000,000
12) M 22tz 2} 1,000 |. &2 1,000
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14) E2H]| 2,000,000 |. &t5t3i3 S E M 2| 2,000,000
15) =444 1,000 |. &% 1,000
16) stus|AMEZ 420,000,000 |. SR AMES 420,000,000
17) 7| EbL Hhata || 4,790,000 |. 7IEFAlAM 2 3 2t2(d] 4,790,000
V. 2ol Hlg 16,000,000
1. 4ol H|8 16,000,000
1) M7 FFH e 1,000,000 |. M7|& 2F £ &4 1,000,000
2) 7|EteHQH|E 15,000,000 |. MA T AP DpA| ZtH Bhet 15,000,000
g A 15,000,000
2 94 & g A 2,198,000,000
. Extgtso2 26t X2 X & 358,002,000
2. R 35 x&E 358,001,000
4) ZIAZ| T F S 358,000,000 [1. M2Ois i EEHE SMAH| 350,000,000
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